002

25 25.1
14 14.5

L=16.5km 10 10.6 | v= 25,1 - 14.5
250 22 22.2
250 2 2.9
300x 300x 300 2 2.0
1 1.0




002

t=5cm 14 14.0
RM30 t=10cm 14 14.0
RC30 =154 14 14.0
t=5cm 28 28.0 | L= 22.2 + 2.9
t=5cm 24 24.1
AS L=7.5km 1.2 1.2 V= 241 * 0.05




22.20 1.0 22.2 22.20 0.6 13.3
2.90 1.0 2.9 2.90 0.4 1.2
25.10 25.1 25.10 14.5




10.0m

250 10.0 + 2.00 / :307kg/ 5.00 5.0
250 10.0 + 1.00 / 10.00 10.0
1:3 t=3 0.50 * 0.03 * 10.00 0.15 0.15
RC-40 t=10 0.50 * 10.00 5.00 5.0

0.50 * 10.00 5.00 5.0




10.0m

G250 10.0 + 1.00 / 1297kg/ = 10.00 10.0
G250 10.0 + 1.00 / :31kg/ = 10.00 10.0
1:3 t=2 0.42 * 0.02 * 10.00 = 0.08 0.08
18-8-40 t=10 0.52 * 0.10 * 10.00 = 0.52 0.52

0.10 * 2 * 10.00 = 2.00 2.0
RC-40 t=15 0.62 * 10.00 = 6.20 6.2

0.62 * 10.00 = 6.20 6.2




300x 300x 400

10.0

300x 300x 300 = 10.00 10.0
T-25 300x 300 = 10.00 10.0
18-8-40 5 0.30 * 0.30 * 0.05 * 10 = 0.04 0.04
18-8-40 t=5 0.60 * 0.60 * 0.05 * 10 = 0.18 0.18

0.60 * 4 * 0.05 * 10 = 1.20 1.2
RC-40 t=10 0.70 * 0.70 * 10 = 4.90 4.9

0.70 * 0.70 * 10 = 4.90 4.9




L=4.7m

V=0.30 * 0.168 * 4.70 / 2

0.11




11

22.20 0.5 11.1
2.90 1.0 2.9
25.10 14.0




13

22.20 0.9 20.0
2.90 1.4 4.1
25.10 24.1




(011)

12 12.
12 12.
5 5.
5 5. V=12.0 + 5.9 - 12.7
18-8-40 1 1.
8 8.
RC-40 t=15cm 2 2.
B500x H500
NS 29 29.




No.0 0.0

No.0+5.00 5.00 0.0 0.00 0.0

No.0+5.00 0.5

No.1+9.00 24.00 0.5 0.50 12.0
29.00 12.0




No.0 1.1 No.O 0.7

No.0+5.00 5.00 1.1 1.10 5.5 No.0+5.00 5.00 0.7 0.70 3.5

No.0+5.00 0.3 No.0+5.00 0.1

No.1+9.00 24.00 0.3 0.30 7.2 No.1+9.00 24.00 0.1 0.10 2.4
29.00 12.7 29.00 5.9




H=800 L=5.00m
18-8-40 V= (0.20+0.36)/2*0.80*5.00 1.120 1.12
A= 0.80*(1+1.0198)*5.00 8.07 8.1
RC-40 t=15cm A= 0.41*5.00 2.05 2.1
A= 0.41*5.00 2.05 2.1




U B500x H500 10.0m

B500x H500

NS N= 10.0+ 2.00/ :480kg/ 5.00 5.0

1:3 V= 0.59*0.02*10.00 0.118 0.12

18-8-40 t=10cm V= 0.79*0.10*10.00 0.790 0.79
A= 0.10*2*10.00 2.00 2.0

RC-40 t=15cm A= 0.79*10.00 7.90 7.9
A= 0.79*10.00 7.90 7.9




(012)

7.9

1.4

L=11.5km 1.3
5.2

35cm 7.2
H=30cm 3.5
H=10cm 3.5




2.3

0.4

3.45

2.3

2.30

7.9

3.45

0.4

0.40

1.4

3.45

7.9

3.45

1.4




35cm A= 7.23 7.2
18-8-40 V= 7.23*0.22 1.590 1.59
C-40 V= 3.59 3.6
H=25cm L= 3.45 3.5
H=10cm L= 3.45 3.5




H=30cm 10.0m
18-8-40 V= ((0.10+0.52)/2*0.20+0.52*0.10)*10.00 1.140 1.14
A= (0.30+0.10)*10.00 4.00 4.0
18-8-40 V= 0.72*0.10*10.00 0.720 0.72
A= 0.10*2*10.00 2.00 2.0
A= 0.72*10.00 7.20 7.2




t=10cm

10.0m

18-8-40

0.783*0.10*10.00

0.783

0.78

0.10*1.044*2*10.00

2.08

2.1




H sL H1 B B1 sL sL
2.16 2.15 2.46 | 0.313  0.559 2.15 1.07

1.70 1.70 1.70 2.12 2.11 2.42 | 0.313  0.555 2.11 2.130 3.62 1.05 1.060 1.80
1.75 1.75 1.75 2.03 2.01 2.33 | 0.313  0.546 2.01 2.060 3.61 1.00 1.025 1.79
3.45 3.45 3.45 7.23 3.59
( + )/2  SL=(H-0.1)*1.044 SL = SL =(B+Bl)/2*H

HL = H + 0.30

BL =B +HL * 0.1 = * sL = *






